FEBRUARY 2021
PREFORMED LINE PRODUCTS
® The connection you can count on.

RAPTOR PROTECTOR™ PLATFORM 5' x 5°

Be sure to read and completely understand this procedure before applying product. Be sure to select the
proper PREFORMED™ product before application.

A. FRAME END (2)
B B. FRAME CENTER (1)

- : C.WOOD MOUNTING BRACKET ASSEMBLY (2) or

& ) STEEL MOUNTING BRACKET ASSEMBLY (2)
E D. SMALL PARTS BAG
. 3/8 - 16 2" CARRIAGE BOLT (12)
» . 3/8 - 16 1-1/4” CARRIAGE BOLT (4)
. : . 3/8” WASHER (16)
A : ¥ ‘\r A . 3/8” LOCK WASHER (16)
) g f . 3/8 - 16 NUT (16)

E. MAIN SUPPORT ANGLES (2)

or
D c P ' NOTE: For proper installation of the RAPTOR PROTECTOR™
Platform, it is recommended that the platform be grounded per
company standards and practices.

STEP #1  Begin assembly of the nesting platform by sliding, one STEP #3  With the nesting platform fully assembled, retighten all
at a time, the side panels into the base panel at the 'T' bolts with a wrench. Start with the support angles and
connector plates. The bolts connecting the ‘T' plates work outward. Ensure all lock washers are flattened.
may need to be loosened slightly. Secure side panels
. o 11 12
into place with 2" carriage bolts, washers and nuts. s a a

Snug all bolts so alignment can be done in Step #3.

1— : : <«—3
. N E HEE HE =gy
......... >
7/ \8
97 N0

Completed assembly of nesting platform frame.

STEP #2  Attach main support angles (E) to the platform. (PLP ¥
TIP: Flipping platform vertically and leaning against a
rigid object for support is helpful). Use 2" long carriage
bolts Holding the main support angles in place, with
the face of the angle with the slots facing the center of
the platform, insert the outer most bolts to position the . ; o ] o i .
angle supports followed by the inner two bolts. Hand
tighten all bolts.

5 6 : :
1 \ / 2 h ) .
\\ NOTE: Color changed to show the orientation of the support angles.
3 4 i —
7 8




STEP #4a Wood Pole Installation

Attach wood pole mounting brackets to the desired
location on the pole, can be attached with 5/8” through
bolts (not provided) or may be attached with straps
(not provided).

STEP #5

Place the platform on top of the installed pole brackets
aligning the slots in the main support angles with the
square bolt holes in the flange of the pole brackets.
Secure platform in all four bolt holes with 1-1/4" long
carriage bolts, washer, lock washer and nut provided

Retighten all bolts.

Strap 7

Channels\"u

STEP #6 Installation of the RAPTOR PROTECTOR Platform

is complete.

STEP #4b Steel Pole Installation
Attach steel pole mounting brackets to the desired
location on the pole, can be attached with 5/8” through
bolts (not provided) or may be attached with straps

(not provided).

Strap
Channels

SAFETY CONSIDERATIONS
This application procedure is not intended to supersede any company construction or safety standards.

This procedure is offered only to illustrate safe application for the individual.
FAILURE TO FOLLOW THESE PROCEDURES MAY RESULT IN PERSONAL INJURY OR DEATH.

Do not modify this product under any circumstances.

This product is intended for use by trained technicians only. This product should not be used by anyone
who is not familiar with, and not trained to use it.

When working in the area of energized lines, extra care should be taken to prevent accidental electrical contact.
Be sure to wear proper safety equipment per your company protocol.

For proper performance and personal safety, be sure to select the proper size PREFORMED™ product before
application.

PREFORMED products are precision devices. To ensure proper performance, they should be stored in cartons
under cover and handled carefully.

‘ PREFORMED LINE PRODUCTS

P.O. Box 91129, Cleveland, Ohio 44101 « 440.461.5200 ¢ preformed.com ¢ email: inquiries @ preformed.com
SP3582-1



